





10.

11.

12.

ab’
A physical quantity Q is given as Q = , 1f the percentage error 1s a,b,c and d are 2%, 1%, 2%

cd
and 1%, the % error in Q will be

1) 5% 2) 15% 3) 9% 4) 2%

Assertion: On increasing the pressure, the volume decrease 1n more 1n an 1sothermal proces than
1in an adiabatic process

Reason: Adiabatic process 1s given by py?

1) Assertion 1s correct and Reason 1s false
2) Assertion 1s correct and Reason 1s correct
3) Assertion 1s false and Reason 1s correct
4) Assertion 1s false and Reason 1s false

Two planet A and B are revolving around a massive star such thatr, =2r_ and m, = 4\/51113 . Find

ratio of angular momentum of planet B to planet A

] 1 ]
1) 83 ENE N N
A capacitor C = ouF , mitially charged with a cell of emf 5V 1s disconnected and connected to

another capacitor C = 12pF which 1s mitially neutral. The charges on C and C, atter connection
are

1) OuC,30uC
2) 10uC,20uC
3) 20uC,10uC

4) 30uC,0uC
Three particles of same mass are moving a shown. (all collisions are elastic)

m m m
@—x-Sm/s —:-2m/s @—*4111/8

S.: After all collisions velocities are 4m/s, 2m/s and Sm/s

S _: Velocities are get interchanged 1n elastic collision of same mass

1) S,: Correct S,: Correct

2) S : Incorrect, S,: Correct

3) S,: Incorrect, S.: Incorrect

4) S,: Correct, S.: Incorrect

An electromagnetic wave propagates 1in +X - direction. Then, electric field and magnetic field are

directed along
1) XY 2)Y,Z 3)Z,Y )Y, X

1
1
1

A converting lens of focal length 24cm, made of glass ( n, .. =1.5 ) 1s immersed completely 1n

glass

water (M., =1.33). It will now behave like a converging lens of focal length —cm.

water



13.

The truth table for the logical circuit shown below 1s
)A|B|Y
0]0(0
011(0
1{0]0
1111
2) AIB|Y
0 {0 |0
011 |1
1{0 |1
1 {110
3) AB|Y
0 {0 |0
01|l
11011
1{1 |1
4) AIB|Y
0(0 |1
Of1 10
110 10
1 11
D;
14. Figure shows two spherical surfaces of radius R having common centre. If the object 1s placed at
O, find the distance between the first images formed by both the surfaces.
4R 4R 4R 2R
2 35 2) 27 3) 70 4 35










10.

11.

LE,

13,

A drug becomes ineffective when 1t decomposes to 50% 1ts concentration. If 16 mg of said drug
becomes 4 mg 1n 12 months, find the time 1n which drug becomes meftective given that decompo-
sition of drug follows first order kinetics

1) 6 months 2) 3 months
3) 2 months 4) 12 months

Which of the tollowing gives predominantly O, on electrolysis among the following

A. Aq.AgNO, (Pt electrodes)
B. Aq.AgNO, (Ag electrodes)
C. Conc.H,SO, (Pt electrodes)

D. Dilute H,SO, (Pt electrodes)

1)AB 2) BC
3)ABC 4)AD
Determine the type of oxide formed by an element (A) which has smallest size among following

L1, Na, K, Be, B, Mg

1) A0, 2)AO

3) AO, 4) A0,
Which of the following ether react with HBr to form phenol?
1) Ph—CH, -O-CH, - CH,

2) Ph—CH, —OCH,

CH;
/

3) Ph — O —C —CHj3;
N\
CH-

4) Ph—CH, -O—-CH, —Ph
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